%590 FEREKICETHH

=
[EiEdeFFRICET HREDEHITOLT]

(%)

(B2—1TIHRELO> TRV IEBEZNDAID)
f2—2 HATA /HRELOTWENERIZFTY A,

(OlFx12)

&
[ il ]

FIithig
B
REffidthis
EN il ithigt

[ t-F45 ]

BEGH
18~19%
204t
304
401%
501¢
60~64#%
65mLLE

= (ED)
18~194%
201%
301t
401%
501¢
60~645%
65mLLE

[ #31(F1) ]
Ez1ed
ik
Z0tt

[ #iR(F2)

—

18~19%
20~29%
30~398%
40~49%%
50~598%
60~64#%
65mLLE

[ HE%(F3)

BEXE

B A

M (B1)
ER-ER
e

0t

—

BHLRIE

DWEICE HEIE->

Shdlnig fzoent i
BHELRE LAEKAS dHREEX

ERHRE  LHECE BLF TLEAS L

%Base SEFBDL  FFOPH M §ik

38 EICETD FXEEL

HREFS £IEEAT

OHEET VB

68 294 74 50.0 132
16 313 125 50.0 6.3
20 35.0 5.0 35.0 250
11 455 182 36.4 -
9 - - 778 222
3 - - 100.0 -
1 1000 - - -
1 - - - 100.0
1 100.0 - - -
5 20.0 - 80.0 -
37 405 5.4 432 108
2 1000 - - -
5 60.0 20.0 20.0 -
10 60.0 100 30.0 -
8 375 - 50.0 125
4 - - 75.0 25.0
8 125 - 625 250
30 16.7 100 56.7 16.7
10 100 20.0 60.0 10.0
7 143 143 42.9 28.6
3 - - 100.0 -
2 50.0 - 50.0 -
8 25.0 - 50.0 25.0
37 405 5.4 43.2 108
30 16.7 100 56.7 16.7
2 1000 - - -
15 26.7 20.0 46.7 6.7
17 412 1.8 353 1.8
11 273 - 63.6 9.1
6 16.7 - 66.7 16.7
16 18.8 - 56.3 250
7 28.6 - 57.1 143
39 308 103 51.3 77
21 28.6 48 42.9 238
12 25.0 8.3 333 333
1 100.0 - - -
6 16.7 - 66.7 16.7
2 50.0 - 50.0 -



